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156,7+ 1002 =
1003 =

100D =

1002 =

7x 100 =
893,6+ 10 =
1009 =
314,9+100% =
1002 =

—1 x10=

Al NGB

7% 10" =

7% 10 =

7x 107" =
1% 100 =
1003 =
-3x10=

1002 =

5x 100 =
656,6+ 107 =

{8 x 103 =
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156,7 + 1072 = 15670
107 = 0.001

1077 = 0.1

1072 = 0.01

7% 107% = 0.0007

893, 6+ 107 = 893600
107 = 0.0001

314,9 + 107 = 3149000
1072 = 0.01

—1x10=-10

sl
7x10° =7
7 %10 = 70
7x100Y =07

~1 x 107 = -0.0001
107 = 0.001

—3x 10 =-30

1072 =0.01

5x 10 = 0.0005
656, 6+ 1072 = 65660

8 x 107 = 0.008
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